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Big-O Notation
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C++ Q==

##tinclude <iostream>

using namespace std;

int main() {
int a, b;

cin >> a >> b;

cout << a + b << ‘“\n’;

string s;

cin >> s;

cout << “Input:

return 9;

? K< s << ‘\n’;



o HHF2 Q12524 (QF SHA| TLE L A %)
- 0|3 8% scanf/printf/getchar St C++ Q&3 20
cin.tie(NULL);

cout.tie(NULL);
ios_base::sync_with_stdio(false);

« HHOZ endlS AL X|Qf (L2)
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cout << a - b << “\n’;
« & C YA #include <cstdio> St ALE Dt



. vector<typename> : 7t&{ B
« 39| :insert/erase O(N)

#tinclude <vector>

using namespace std;

v.push _back(30);

vector<int> v; v.size(); /
v.push back(10); vie]; // 10
v.push_back(20); v.empty();
v.size(); // 2 v.clear();

/ 3

// false
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C++ STL

e sort(v.begin(), v.end(), comp)
« O(NIgN)
o JLEN 32| B sort(arr, arr + N)& 2t
- Hlugty 2 2 Jbs
#include <algorithm>

using namespace std;

vector<int> v = {4, 2, 5, 3, 1};
for (int 1 = 0; i < v.size(); i++)
cout << v[i] << < ?; // 42531
sort(v.begin(), v.end());
for (int 1 = 0; i < v.size(); i++)
cout << v[i] << “?’; // 12345
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